7.1 Graph sin cos SB.notebook February 01, 2017

If you missed unit 6 test, make up by Friday ACT review questions...

Save these for after notes

Jan 31-10:12 PM Jan 31-10:16 PM
Calendar Math: Hexagonal Prism:
Sphere 1. Horizontal slice:
. . . Hexagon
Any cross section on a sphere is a circle 2 Vertical slice:
: C ectanyi2
1. Horizontal S|ICG.. Qircle 3. Diagonal slice through all lateral faces:
2. Vertical slice: circ|e XN
) 4. Can you make an octagon by slicing the
i ice: Clrcle -
3. Diagonal slice: € shape? N0~ INoX it G
Jan 31-10:12 PM Feb 1-7:34 AM
Rotating of 2D Objects Rotating around the y-axis creates:
Rotating a 2D figure around an axis creates a * .
3D figure leh)r (ylmder
Start with a rectangle that has a side on each Rotastir“;; around the x-axis creates:
axis: it touches x-axis and y-axis : .
E'jhi- Cy lindsye

Feb 1-7:37 AM Feb 1-7:39 AM
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Rotating a rectangle that has only,ne
side on an axis creates:

R‘:jfﬁ' C\/hhdﬂr
tha hele

February 01, 2017

Feb 1-7:42 AM

7.1 Graphs of Sine and Cosine

f(x):asin(bx)+k 1.Sine goes through (0,0)
. 2. Sine goes up on the right
3. Sine is odd

/\ 1 a|=amplitude
A - f - f midline

Length of Period

Y

f(x):acos(bx)+k 1. Cosine starts high at 1

2. Cosine is even

y
\ /\ A al =amplitude
) Ly midline
= v A\ + [} x«x
-1 ;

Length of Period

Jan 31-9:13 PM

Jan 31-9:19 PM

Amplitude: The height of the wave
f(x)=asin(bx)+k
(half the distance from the max to min)

amplitude is never negative

Examples:
a) f(x)=Bcos(2x)+5 b)f(x)=-fsin(4x)-2
a=3 0= o\
c) f(x)=1sin(3r)
azl 2
2

Period: One cycle of the wave
(how long before it repeats) ‘\ j
Perind o parent Sinx ¢ cosx 211 A
To find the period in a function: 2
it nex+ 1t % bl
Examples:
a) f(x)=-3sin@x)—4 b)f(x)=2005@x)
b=3 2T T
h?fk.lbcl ;3 h 3 a0l
r b
Phizovhi 3 Shenk. }L
PALRNE,
3
2r. 3 L
[T \mz (ﬂ

Jan 31-9:21 PM

If |b| >1 then it is a horizontal shrink
a horizontal shrink=period smaller

If| b] <1 then it is a horizontal stretch
a horizontal stretch=period longer

Jan 31-9:25 PM

Jan 31-9:28 PM
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Midline: The horizontal line that cuts the
function in half vertically.

The midline is the vertical shift k -ﬂv--- k

The distance from the midline to the max is the
amplitude

The distance from the midline to the min is the
amplitude

Steps to graph:
1. Identify amplitude, period, midline

2. Mark 4 lines on the x-axis, the last one is the
period. —1—4—4—L\\J Pevind

3. Mark amplitude from the midline up and
down

4. Determine if the graph is sin or cos

Jan 31-9:35 PM

Jan 31-9:39 PM

Recall:

sin 0= (O cos 0= |
sinm = | cos7= 0
sinr =D cosT= - |
sindl= - 0033;[: 0
sin%=9Q cosif= |

Then it repeats Then it repeats

£O)= Sinx

LN
SR E: ’IT-“T

Jan 31-10:07 PM

Feb 1-10:06 AM

Fix)= cos x

Identify the amplitude, period, and midline and

then sketch one period of the graph

f(x) =a28in(%nx) -1
amplitude: 7.
period: b3 ¥~ 3

midline: ~ |

Feb 1-10:09 AM

Jan 31-9:41 PM
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Example 2: f(x)=-5003(1§x)+3

amplitude: §

eriod: 277
P 2wz YT
midline: 1 =

pa |
3

Jan 31-9:44 PM

Jan 31-9:45 PM

Example 3:
Identify the amplitude, period, and midline

Then write the equation for the function.

sine or cosine !

amplitude (a) > /N

3

[+ \

perigd='(b) stretczhﬂpr shrink

L~
S~
=
-

At

i
¢

i

I

idline (k B
midline ( )Z .

Feb 1-10:21 AM

fozasinibbe
Fo)=-39nKtL

Jan 31-9:47 PM

Feb 1-9:36 AM

sine or cosine C6S

amplitude (a) | T Y1 5%

period (b) stretcTrl or shrink
= \

£

midline (k)
— -y
2N =177

—

o

Jan 31-9:51 PM
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fo)- g Cos(bx) 41
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Feb 1-10:31 AM
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